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�������������	 ����������	 ����������	 �����
�)��	 
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���*�������	 ����������	 �	 ����������	 
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�
�����	
����
���	%
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�
�����	�	�������
�(���	 ���������	 �����	 %
�����
�����	 �������������	 ����������	
����������	 �����
�)��	 #
�	 ����	 %
��������	 �������$	 �	 ���	 ��	 ������)����	 ���	 �	 ���	
%
��������	����������

– �	 %
���������	 ���������	 
������	 ������	 ����
�	 �������������	 ��������
�	 ����������	
�����
�)��	 
	 �����������	 ������	 �������	 ��
����������	 %����,������	 ���	 ��	 ���	 �	 �	
%
���������	�������	�����������!

���%������	���������	�	-����������������	������	�������
����	
	��*��)�	1.

.�*��)�	�	– /��������	�	-����������������	������	
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���

/��������	
������� 1����������������	

�������

2��)�����
)��	�33	���

2��)�����)
��	433	���

2��)�����
)��	�33	���

2��)�����)
��	433	���

5����	�*��
)��	�
1
P – 4,9

5����	�*��
)�	�����	
���������
�����	� 2

P – 5,5 6,0

���������	
����
����	
�������	
���� ��3 1,5 –

6����	�*��
)��	�� l 10,0 –
7�����	�*��
)��	�� b 10,0 –
.������	#
�����$�	�� � 0,1 –
0*8��	�*��
)��	��

1
V3 12,0 –

0*8��	����	�� �V
3 8,8 –

0*���	����������	����������	
%. RP 73,3 –

5����
��	����	�������	
#����������	�����
�)��$	
�����	�������
�����	9

�w 5,0 9,2 –

2�-::�)����	�������
���� k 0,1 0,1 –
0������������	�*8�����	
���������� � 0,7 –

5����	�
�
%(�����	
�����������	������	������	
����
�	��	�	�2

1
m

�	��
0,1 0,1 –

.������	�����	�
1
h 0,0002900 0,0000957 –

2�������
�	�
�
%(�����	
���������	��	�*�	�������	
������	����
�	��	�	�2

2
m

�	��
0,608 0,201 –

���)������	����������	
�����*���
�����	���������	
������-���������	9

.���N 4,23 14,50 4,30 14,60
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0���
���	 ��������	 
������(���	 ��������	 �������	 ������
%(���	 
	 ���������	 
����	 ���	
��������
�	 �������	 �
	 ���������������&	 �����������	 ����������	 :��:���	 �	 �
����	 �	 �����	
)�����	 ����	 �������������&	 ����������!	 ;	 
�
��������	 ��	 &����������	 ���������	 ����������	
���%�	����
����	���)�����	 ���%���
%(���	 ������(	
	 �
������	������	���	 ��
��*��
���	:�
�!	
0��	 ���%�	 
�����	 ��	 ���������	 ������	 
�������������%�����	 ������
��	 
������������	 �	
���������������	�������!

0����	 �
	 ���*����	 ���������������&	 
�����������	 �������	 ���	 ���������
	 �
������	
�������	 �	 ���	 ����

�����!	 0������	 ���	 ������
�
����	 ����
���
�&	 ����������	 
	
����������&	 ����������&	 �����
�)��&	 ��
�
�����	 �������	 
��,��	 ���������	 ���������	 �	
������(!	 1�%	 ���*���%	 �����	 ��,���	 ������
�
����	 :��:�����������&	 ����������
�	

���(��&	��	����)���	�������(���	
	����������
�����	:�
�!

;	�������	�������
����	����������	�����
�)��	��	����
�	���������-6 #�<-6)�	����������	

	 ������
�	 �����%(����	 ����������	 =3���!9	 ������
������!	 "�����
%����	 
����������	
�������	– ���������%(���	��*�
��	><�?-�@�	�������
��(���	��*��	�����	��=�4-����
��-2,4,6-
�������� #��������$ �	 ��������	 :��:���!	 6��	 ���%�����	 ���������&	 �����
�)��	
������
�
���	 ��&�������	 -����%
�������	 �����%�����
����	 
	 ������
�!	 ;	 �����	 
���������&	
-�����������
	 ������
�
���	 �����,����%(	 -����%
�����-����%��)����%(	 ����(	 ��	 *�
�	
�
%&,����
���	-����%����	ZE-50A×52D-UTX.

A��������	 �	 
�
�����
�(	 ��*���,�&	 ���������
	 
������������	 �)���
�����	 ��	 ����
����(	
>2��������	 ���������	 �	 ������(@	 ��������	 B0A.	 CD�4E-DF	 #�����	 G$! ���)���	 �����������	
�����%�)��	 �
%���	 �������	 ��������
�������������	 �����
�	 ��	 ���*���	 HIJ�KLM�	 :����	
«Mettler Toledo» 
	 �����:���	 
�
�%&�	 
	 �����
���	 ��������%�	 30–433NA! 5������	 "2-
�������������	 *��	 �������
��	 �����
	 �����	 �
	 ���������&	 �����
�)��	 ��	 �	 �����	
��������
�������������	�����
�. ��
��&�����	�*��
)�
	�����	���������	���������	�	������(	��	
B0A.	CD�4E-DF	�
%����	�	������(	������	������%(���	-����������	����������� ��	����������	
JEOL JSM-5610 LV.

���	 ���%���
��	 ����������	 
	 �<-?�	 ������
�����	 ����
����	 ������
�������	 ��*�(������	
�������
���	�������	�	������������	��������	#��*�!	�). A	

�������	���������%(���	��*�
��	
><�?-�@	 &�������	 �������	 ��������'	 �������	 *������	 
��%&���	 �����	 %�������	 ���������	
��������	�*��
%(�����	��	��
��&�����	���*���
���
�����	����	��������
%��	�����������(!

.�*��)�	�	– A��������	�	������(	����������&	�����
�)��
A���������	><�?-�@�	���!9 0 14 17 20 23

2��������	���������	�	������(
#�������	O�3	��$ �!�! �!�! �!�! �;-0 �;-0

2��������	���������	�	������(
#�������	��?	��$ �!�! �!�! �;-2 �;-1 �;-0

����������'	�!�!	– ��	����
����
%��!

P�	 ���%�����&	 ��������
�����������& ���
�& �*��
)�
�	 ���������&	 ����������	
��*�(������	 �
�	 ��%����	 ������	 �����	 #���! 1). P�	 ���
��	 ��%����	 �������	 �%*�����%����	
-��������������	 ���	 ���
����	 �	 �������(	 ���)�����)��	 ���(��&	 ��
�
	 
	 
���	 �������!	 P�	

�����	 ��%����	 �����&����	 �����%�)��	 ������	 ���������	 �������	 ���������	 ���	 *����	 ��
��&	
��������%��&	
	���
�����	�	������	�����������������	�<-6.
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/��%���	�	Q .�������
������������	���
�� �*��
)�
	�	�����
��	�����������	
><�?-1»:

1 – 0%; 2 – 14%; 3 – 17%; 4 – 20%; 5 – 23%

"
%�����	 ��������%��%��	 ��
��&�����	 �����
�)�� �����	 
�
�����
��	 ������� �	 "2-
�������������	�
������	�������	����
����	���	�������	:��:��	
�����	��	���)�����	�������(���	

	 ����������
�����	 :�
�	 ��������	 ���	 �������!	 ;	 �
�����	 �������	 ���
�����	 ��
��	 ������	
�����������	&����������	���	-:���
	:��:�����	�������'	FDC	��-1 #
��������	����*����	R–O
�
�
�$	�	�3EO	��-1

���	����������	����������	C3–23 ���!% ���*���
���
�����	����	�����
����	*����	�������	
�	-::����
��	��������
%��	��::%
��	���(��&	��
�
	�	������%���%	�������%�	�	�����	������	����	
������������	 *������ #���!	 C$. P������	 ���	 
	 ���%��%��	 ���*���
���
������	 ����	 %&%�,���	 ���
*��������	�
����
�.

#
��������	����*����	R–O–M	�
�
�$!	;��������	���������	�*��
%(�����	���	
��
��
�	 ���������&	 )����	 ��������	 :��:����	 
�*������	 ������%(�	 �	 �������	 ���������	
���������-6 �	 �*��
�
�����	 -:���
	 :��:�����	 ��������	 ���	 ���
���� �	 �*��
�
���(	
���*���
���
������	�����(����	����	��	��
��&�����	��������!

/��%���	C	Q A��%��%��	�*����
,��	��
��&�����	�*��
)�
	�	�����
��	�����������	><�?-1»:
� – 14%; � – 17%; � – 20%; �
– 23%

.����	 �*��
���	 ���*�����
�����	 ���������	 ><�?-�@	 �����
%��	 ����
�������	 
	 ��
�
��	 �	
����������
�����	 :�
�&	 �	 �
������	 -::����
���	 ����
�������	 ��������	 ���	
������������������	�<-6.
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